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• Introduction

• Solving Linear equations in 

1,2,3 variables

(रैखिक समीकरणों का हल)



Introduction:
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• Expression (व्यंजक): not equated
• Equation (समीकरण): equated with any value
• Polynomial (बहुपद): expression with finite terms and non-negative integral 

powers of variables
o Monomial, binomial, trinomial (एकपद, द्विपद, त्रिपद)

• Variable (चर)
• Constant (अचर)
• Terms (पद)
• Coefficient (गुणांक)
• Degree (घात)
• Linear (रैखिक) (1,2,3 variables)
• Quadratic (द्विघात) (1,2 variables)
• Cubic, Quartic, Quintic
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Solving linear equations (1 & 2 variables):
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The root of the equation  
𝒙+𝟒

𝟒
 + 

𝒙−𝟓

𝟑
 = 11 is:

समीकरण 𝒙+𝟒

𝟒
+

𝒙−𝟓

𝟑
= 𝟏𝟏 का मूल:

a) 12  b) 20  c) 2  d) 10

8Lin eqn (solving) b  



If 𝟐𝒙– 𝒚 = 𝟓 and 𝟑𝒙 +  𝟐𝒚 = – 𝟑 then 𝟑𝒙 +  𝒚 = 
अगर 𝟐𝒙 –  𝒚 =  𝟓 और 𝟑𝒙 +  𝟐𝒚 = – 𝟑 है तो 𝟑𝒙 + 𝒚 =

a) –2  b) –1  c) 0  d) 1

9Lin eqn (solving) c  
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If 𝒙 + 𝒚 = 𝟕 and 𝟑𝒙 + 𝒚 = 𝟏𝟑, then what is 
𝟒𝒙2 + 𝒚2 + 𝟒𝒙𝒚 equal to?
यदद 𝒙 + 𝒚 = 𝟕 और 𝟑𝒙 + 𝒚 = 𝟏𝟑 है, तो
𝟒𝒙2 + 𝒚2 + 𝟒𝒙𝒚 ककसके बराबर है ?
a) 75  b) 85  c) 91  d) 100

NVS TGT 2019 S1Lin eqn (solving) d  



If 𝟑𝒙 + 𝟒𝒚 − 𝟏𝟏 = 𝟏𝟖 and 𝟖𝒙 − 𝟔𝒚 + 𝟏𝟐 = 𝟔, then what is 

the value of 𝟓𝒙 − 𝟑𝒚 − 𝟗?

यदद 𝟑𝒙 + 𝟒𝒚 − 𝟏𝟏 = 𝟏𝟖 तथा 𝟖𝒙 − 𝟔𝒚 + 𝟏𝟐 = 𝟔 है, तो 𝟓𝒙 − 𝟑𝒚 − 𝟗 का 
मान क्या है?
a) 18  b) -9  c) -27  d) -18

11
SSC CGL T2, 19 Feb 2018Lin eqn (solving) b  



Find a and b if 
𝟓

𝟐𝒂+𝒃
 + 

𝟑

𝒂−𝒃
 = 4 and 

𝟏𝟎

𝟐𝒂+𝒃
 + 

𝟏

𝒂−𝒃
 = 3

अगर 𝟓

𝟐𝒂+𝒃
 + 

𝟑

𝒂−𝒃
 = 4 और 𝟏𝟎

𝟐𝒂+𝒃
 + 

𝟏

𝒂−𝒃
 = 3 है तो a और b ज्ञात करें|

a) a = 1, b =1  b) a = 2, b = 2
c) a = 1, b = 2  d) a = 2, b = 1

12Lin eqn (solving) d  
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If 
𝟑

𝒙+𝒚
+

𝟐

𝒙−𝒚
= 𝟐 and 

𝟗

𝒙+𝒚
−

𝟒

𝒙−𝒚
= 𝟏, then what is the value of 

𝒙

𝒚
?

यदद 𝟑

𝒙+𝒚
+

𝟐

𝒙−𝒚
= 𝟐 और 𝟗

𝒙+𝒚
−

𝟒

𝒙−𝒚
= 𝟏 है, तो 𝒙

𝒚
का मान क्या होगा ?

a) 
𝟑

𝟐
  b) 5  c) 

𝟐

𝟑
  d) 

𝟏

𝟓

Lin eqn (solving) b hw  
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If 
𝟐

𝒙
+

𝟑

𝒚
=

𝟗

𝒙𝒚
 and 

𝟒

𝒙
+

𝟗

𝒚
=

𝟐𝟏

𝒙𝒚
 where 𝒙 ≠ 𝟎 and 𝒚 ≠ 𝟎, then 𝒙 + 𝒚 =?

यदद 𝟐

𝒙
+

𝟑

𝒚
=

𝟗

𝒙𝒚
और 𝟒

𝒙
+

𝟗

𝒚
=

𝟐𝟏

𝒙𝒚
हैं, जहााँ 𝒙 ≠ 𝟎 और 𝒚 ≠ 𝟎, तो 𝒙 + 𝒚 का मान ज्ञात करो |

a) -1  b) 4  c) 0  d) 1

Lin eqn (solving) b  
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CPO 2022 S1, 10 Nov 2022

What are the values of 𝒙  and 𝒚 , 
respectively, from the following 
equations?
𝟔𝒙 + 𝟕𝒚 = 𝟓𝒙𝒚 
𝟏𝟎𝒚 − 𝟒𝒙 = 𝟒𝒙𝒚 
ननम्नललखित समीकरणों से क्रमशः x और
y के मान ज्ञात करें?
𝟔𝒙 + 𝟕𝒚 = 𝟓𝒙𝒚 
𝟏𝟎𝒚 − 𝟒𝒙 = 𝟒𝒙𝒚 
a) 𝟑 and 𝟒   b) 𝟒 and 𝟓
c) 𝟐 and 𝟒   d) 𝟐 and 𝟓

Lin eqn (solving) c  
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If 𝟔𝟓𝒙 − 𝟑𝟑𝒚 = 𝟗𝟕 and 𝟑𝟑𝒙 − 𝟔𝟓𝒚 = 𝟏, then what is 𝒙𝒚 equal to?
यदद 𝟔𝟓𝒙 − 𝟑𝟑𝒚 = 𝟗𝟕 और 𝟑𝟑𝒙 − 𝟔𝟓𝒚 = 𝟏 है, तो 𝒙𝒚 ककसके बराबर है ?
a) 2  b) 3  c) -2  d) -3

CDS 4 Feb 2018 Lin eqn (solving) a  
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AWO-TPO 2022 S1, 27 Oct 2022

The point of intersection of the 
graphs of the equations 𝟏𝟒𝟕𝒙 −
𝟐𝟑𝟏𝒚 = 𝟓𝟐𝟓 and 𝟕𝟕𝒙 − 𝟒𝟗𝒚 =
𝟐𝟎𝟑 , lies on the graph on the 
equation:
समीकरण 𝟏𝟒𝟕𝒙 − 𝟐𝟑𝟏𝒚 = 𝟓𝟐𝟓 और
𝟕𝟕𝒙 − 𝟒𝟗𝒚 = 𝟐𝟎𝟑 के ग्राफ का प्रनतछेदन
त्रबदं,ु ननम्न में से ककस समीकरण के ग्राफ
पर स्थथत है?
a) 𝟗𝒙 − 𝟓𝒚 = 𝟐𝟑 b) 𝟒𝒙 + 𝟓𝒚 = 𝟏𝟑
c) 𝟓𝒙 − 𝟒𝒚 = 𝟔  d) 𝟓𝒙 − 𝟗𝒚 = 𝟏𝟕

Lin eqn (solving) a  
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Solving linear equations (3 variables):

19



Find 𝒙, 𝒚, 𝒛 if 𝟐𝒙 +  𝟑𝒚 +  𝟓𝒛 =  𝟏𝟓, 𝒙 +  𝒚 +  𝒛 =  𝟓 and 
𝟑𝒙 –  𝒚 +  𝒛 =  𝟓
अगर 2𝒙 +  𝟑𝒚 +  𝟓𝒛 =  𝟏𝟓, 𝒙 +  𝒚 +  𝒛 =  𝟓 और 𝟑𝒙 –  𝒚 +  𝒛 =  𝟓 है 
तो x,y और z ज्ञात करें|
a) 1, 2, 3 b) 2, 2, 1 c) 1, 2, 2 d) 1, 1, 2

20Lin eqn (solving) b  



If 𝟐𝐱 + 𝟑𝐲 − 𝟓𝐳 = 𝟏𝟖, 𝟑𝐱 + 𝟐𝐲 + 𝐳 = 𝟐𝟗 and 𝐱 + 𝐲 + 𝟑𝐳 = 𝟏𝟕, 

then what is the value of 𝐱𝐲 + 𝐲𝐳 + 𝐳𝐱?

यदद 𝟐𝐱 + 𝟑𝐲 − 𝟓𝐳 = 𝟏𝟖, 𝟑𝐱 + 𝟐𝐲 + 𝐳 = 𝟐𝟗 तथा 𝐱 + 𝐲 + 𝟑𝐳 = 𝟏𝟕है, तो 
𝐱𝐲 + 𝐲𝐳 + 𝐳𝐱 का क्या मान है?
a) 32  b) 52  c) 64  d) 46

21
SSC CGL T2 , 21 Feb 2018Lin eqn (solving) b  



If 𝟓𝒂 − 𝒃 + 𝟑𝒄 = 𝟐, 𝟑𝒂 + 𝟐𝒃 − 𝟒𝒄 = −𝟐𝟐 and 𝒂 + 𝟓𝒃 + 𝟐𝒄 =

𝟔, then what is the value of 𝟒𝒂 − 𝟐𝒃 + 𝟕𝒄 ?

यदद 𝟓𝒂 − 𝒃 + 𝟑𝒄 = 𝟐, 𝟑𝒂 + 𝟐𝒃 − 𝟒𝒄 = −𝟐𝟐 तथा 𝒂 + 𝟓𝒃 + 𝟐𝒄 = 𝟔 है, तो 
𝟒𝒂 − 𝟐𝒃 + 𝟕𝒄 का मान क्या है?
a) 36  b) 20  c) -28  d) 28

22Lin eqn (solving) b hw  
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If 𝒂 + 𝒃 + 𝒄 =
𝟕

𝟏𝟐
, 𝟑𝒂 − 𝟒𝒃 + 𝟓𝒄 =

𝟑

𝟒
 and 𝟕𝒂 − 𝟏𝟏𝒃 − 𝟏𝟑𝒄 = −

𝟕

𝟏𝟐
, then 

what is the value of 𝒂 + 𝒄?

यदद 𝒂 + 𝒃 + 𝒄 =
𝟕

𝟏𝟐
, 𝟑𝒂 − 𝟒𝒃 + 𝟓𝒄 =

𝟑

𝟒
 तथा 𝟕𝒂 − 𝟏𝟏𝒃 − 𝟏𝟑𝒄 = −

𝟕

𝟏𝟐
 है, तो 

𝒂 + 𝒄 का मान क्या है?

a) 
𝟏

𝟐
       b) 

𝟓

𝟏𝟐
  c)

𝟑

𝟒
  d) 

𝟏

𝟒
 

SSC CGL T2 , 19 Feb 2018Lin eqn (solving) b  
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